Priorité des Opérations (A)

Nom:

Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(10+6) x34+2x(5x8)

(84+7)x2+5x%x(4x6)

(6+7)x5+4x(2+3)

(104+5)x2+4x (6+3)

(10+6) x74+2x(9+8)

((4+7)x6)x2+5+8

(4x(8+7)x2+5+3

(3+2)x8+4x(5+9)
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Priorité des Opérations (A) Réponses

Nom:

Date:

Effectuez chaque expression a 'aide de I'ordre correct des opérations.

(10 +6)x3+4+2x(5x%x8)
=16 x3+2x (5x8)
=16 x3+2x40
=48 +2 x40

=48 4 80

=128

(84+7)x2+5x%x(4x6)
=15x2+4+5x (4 x6)
=15x2+5x 24
=30+5 x 24
=30+120

=150

(6+7)x5+4x(2+3)
=13 x5+4x(2+3)
=13 x5+4x5
—65+4 x5

=65+ 20

=85

(10+5)x2+4x(6+3)
=15x2+4+4x (6+3)
=15x2+4x%x9
=30+4x9

—30+36

=66

(10+6)x74+2x(9+8)
=16 x74+2x(9+8)
=16 x7+2x17

=112 +2x 17

=112 434

=146

—~
—~

44+7)x6)x2+5+8
(11 x6)x2+5+8
=66x2+5+8
—13245+8
=137+ 8

=145

(4x(8+7)%x2+5+3
—(4x15)x2+5+3
=60x2+5+3
—1204+5+3
=125+3

=128

(3+2)x8+4x(5+9)
=5x8+4x(5+9)
—5x8+4x14
=40+4 x 14

=40+ 56

=96

MathsLibres.com




